
R

REPLACEMENT
PARTS

MODEL NO. CAPACITY DESCRIPTION
FORD E.V. BATTERY DOLLY78500

1

2023

INDEX
NO. DESCRIPTION PART

NO.
REQ’D

NO.

Rubber Pad for 78500

Caster w/Brake for 78090

4

4

1
2
3
4
5
6
7
8
9 Locator Pins for 78500 4

Caster for 78090 w/o Lock 4

3/8-16 x 2 1/4” GR5 Tap Bolt Zinc 2

3/8 Medium Split Lock Washer 445100041

4510199

45100211
45100128

10 Carbon Steel Wire Lock Clevis Pin
Squared with Loop 3/8” Dia. 2 1/8”
Usable Length

445101102

11 Knurled Grip Knob 3/8-16 Threaded
Through Hole 2” Dia. Head Black Oxide

445101103

45100210

45100210
3/8-16 x 1 HH Bolt, Tap Bolt, GR 5 Plated

5/16”-18 x 1” Torx
3/8-16 Nylok Nut Plated

8

32

2

11237

45100128
1054


